Trigonometry Activity – Step-by-Step Directions
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Press c and choose 8: System Info, then 1: Document Settings. Change the Display Digits setting to Float and the Angle to Degrees.
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A triangular plot of land has sides of 
AB = 38.5 m, AC = 62 m and 
BC = 33.6 m. Find the angles formed by the three sides and the area of the triangular plot of land. Note, side CD will serve as the height of the triangle.
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To find angle ABC, we will use the law of cosines. The variable θ will be used for angle ABC. The first part of the command is shown. 
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The final part of the command and the result can be seen in this screen.
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To save keystrokes later, recall the answer and store it in variable b. To store a value to a variable use the / key followed by the h. This will produce the right arrow on the screen. Be sure to just copy the value rather than the entire result. Do do this, press £, then press ¢ to move to the end of the number. Press and hold the / key while pressing ¡. This should allow you to highlight just the number. Press · to move it into the next line.
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Return to the Graphs & Geometry page and measure angle CBA. Place the result in the corner of the angle. Notice that it has a number of digits in the display.
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Press d and move the cursor over the value for the angle. Press the - and the +  key until the number of digits is reduced to one number after the decimal point.
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Return to the Calculator page where we will use the Law of Sines to find angle a. Notice that the angle found above is entered as b rather than typing in the entire value or rounding off.
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Even though the result indicates that 
a = the value, this is only on the display. You will need to store the result in variable a. 
10. [image: image10.png]DEG AUTO




Return to the Graphs & Geometry page and place the measurement for angle a on the diagram.
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To find the final interior angle of the triangle, subtract the two known values from 180. This solves the first part of the problem – finding all of the angles.
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Store this result in c.

13. [image: image13.png]DEG AUTO REAL




Return to the Graphs & Geometry page to place this angle measurement on the diagram.
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In the diagram, if we find angle CBD, then we can find the length CD using the primary trig ratios because CD is part of a right triangle which serves as the height of the triangle. 
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Store this result in variable d.
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Return to the Graphs & Geometry page to place this angle measurement on the diagram.
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Use the solve command to solve for the length of the missing side.
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Once again, return to the Graphs & Geometry page to add this measurement to the diagram.

19. [image: image19.png][EENEE DEG AUTO REAL a

61.543212161 -4 61.543212161 1)

solve|sin{d}=——x

33.6
20.5403382353 height  29.5403382353
38.5-height 568.65151103

2

11/99




With this value, we can find the area of the triangle.
